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1> BEBEBEOE
1. BEINE
(1) EAXBEERLE 15,603,675 25,889,125 | A 10,285,450
HARMEZIFE 175,500 175,500 OlegmEefe RIRFAEHE
HEARMEZIE LE 15,428,175 25713,625| A 10,285,450 | =fE#GisFR 42
(2) ZWMHHFE 5,000,000 0 5,000,000
ZWE{E 5,000,000 0 5,000,000
BEINEEET 20,603,675 25,889,125 A 5,285,450
2. BEER
(1) BE%E 17,350,000 22,330,000 A 4,980,000
TR E 11,000,000 14,000,000 A 3,000,000
T REHRBRE 600,000 2,000,000 A 1,400,000
& |d:0) 7% 3,400,000 4,000,000 A 600,000
BELSE 300,000 300,000 0
EXHEHELE 100,000 100,000 0
EEMRIRNAE 500,000 500,000 0
EEREREE 700,000 700,000 O|E=m-2%
EXEEE 200,000 200,000 0
BEHEE 500,000 500,000 0
- 50,000 30,000 20,000 |Bh A £ 4RA ¥ %
(2) E1BE 2,430,000 3,560,000 A 1,130,000
% & 3REN 800,000 800,000 0|BE- T8 -EF
WHEFH 0 480,000 A 480,000\ EH%BERS
XHFEH 660,000 650,000 10,000 | FERT#
XBERAE 120,000 120,000 0
2 300,000 300,000 0| EBRSE
BIEE 100,000 100,000 0
WREXEE 150,000 150,000 o|E%E
HELE 100,000 100,000 O|l=%ERER
EEH 0 600,000 A 600,000|E#AMRE
SeERIK K B 0 60,000 A 60,000
e 200,000 200,000 0
BREER 19,780,000 25,890,000 A 6,110,000
LB B E IO & 823,675 A 875 824,550
2> BENEFHDOE
1. BENIRE
BEINEEET 0 0 0
2. BENEH
BENER 0 0 0
L BRE N E RS 0 0 0
L HA— AR IF BRBA EE ISR AR 823,675 A 875 824,550
—RIEERBEREEZS 23,410,142 23,411,017 A 875
— R IERBAERRES 24233817 23,410,142 823,675
0 57 IERKESEIEF DER
HARMEZIFE 175,500 175,500 0
HEARMEZIWE LE 15,428,175 25,713,625| A 10,285,450
— R IEBREAE~DIREBEE A 15,603,675 A 25,889,125 10,285,450
L HAYE E 1E LR BA PEYE R ZR 0 0 0
EEEKRMESEES 522,731,995 522,731,995 0
B ERMERRES 522,731,995 522,731,995 0
I IERREAEEARTES 546,965,812 546,142,137 823,675




